ogbogoogououbodod

0ooo 0000000000000000

0ooo 000000000000

00 00/0]

oooo

oooo 0000000000000000002300
0

0000 13590461208

oo

gobbobbooogoooobooo

gobboobobooooad

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
gobooboboooooobbbobboooooobbobboooog

(IERERERERN

guoduobbbbogoodooobbgoooobobbbuoooobbbbouooo

gudoubobbboooouobobobbogoooubbbbooouobbbbouooobobbobon
gobbobbbodouoogobbobbboooooonooo

gobbobbbdodoooobobbbuoooooboooog

2000

gobbobbbodoooobbobbboddogooboobbooooooboboobbouoooad
O

gudubobbbogooooooobood

guduobbooooooobbogooooon

guoduobbbboooouobobuoooooobon

gnoooog



guoouobbbtuoogoboobbgoooooooog
AJgoooooga

guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobbobbbooooooobbobobbdoooooboboobobboooad

gobbobboooodobbobbbooooooobo
gobobobobbodooooobbobbboooooonooboo

st n
gobobobbbooggoooboboobbbdoooooboboobbooooooonobo
601 O O

gobobobbbooggoooboboobbbdoooooboboobbooooooonobo

guooooon
1ooogooo

guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobbobbbooooooobobbtbodooooobobbooooooobobobobboooaag

gobobobbog=100 0o nbihx Ox 0Ode00mmx 800mmx 2200mmU oo nn
OD0O00oooosommidonoooood  P=600kg/m20

Q = 1000 kg

A =0 0.60 0.8/20 0.8/20 x [ 0.801 0.8/201 0.8/201 0 2.24 m2
00000000000 0q0 Q/AD 1000/2.240 446 kg/m2
O0gq<0POCOOOOOOOOO

O0000Db0O0LvG12000 D00 00OQ=6800kgl D DD O 0ODOODDOODOA=18m20
0000000 P=1000kg/m2

O00000000O0O0Dqg0 Q/AL 6800/1801 377 kg/m2
goobobbobooooooobbbbtbdooobbobbbooouobbbbbooooo
gobbobboooodobbobbbooooooobo

2000000404

gobobobbbooooooobobobbbodoooobobobboooad



guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
guoduobbbboooouobbobbooooubbbboooubbbbuooobobbbon
gobobbboooooobobbbdoooooboobbboooooobboobobboooad
gudouoobbuoooooobogoooobbbbouoooobon


http://www.tcpdf.org

